
Cattle Problem: "The sun god had a herd of cattle consisting of bulls and cows, one part of which was 
white, a second black, a third spotted, and a fourth brown. Among the bulls, the number of white ones 
was one half plus one third the number of the black greater than the brown; the number of the black, 
one quarter plus one fifth the number of the spotted greater than the brown; the number of the 
spotted, one sixth and one seventh the number of the white greater than the brown. Among the cows, 
the number of white ones was one third plus one quarter of the total black cattle; the number of the 
black, one quarter plus one fifth the total of the spotted cattle; the number of spotted, one fifth plus 
one sixth the total of the brown cattle; the number of the brown, one sixth plus one seventh the total of 
the white cattle. What was the composition of the herd?" 

Exploration of Archimedes Quadrature of the Parabola:
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